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int main(void)

{
double val=3. 14;

double *ptr1 = &val; // 42 ZIH
double *#ptr2 = &ptrl; // Bl E £ E
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/* ptr_swapi.c */

void pswap(int *p1, int *p2
#include <stdio.h> pswap(int *p1, p2)

{
void pswap(int *p1, int *p2); int *temp;
temp=p1;
int main(void) o
! p2=temp;
int A=10, B=20;
int *pA, *pB; H

PA=&A, pB=&B;

pswap(pA, pB);

main &5 S pswap &4 &9
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printf("pAZt 7t2|7| = H= : %d \n", *pA); '
printf("pB7} 7}2|7| = #H<= : %d \n", *pB); ke
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return o; pB = 0x2000 > @
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/¥ ptr_swap2.c */ void pswap(int **p1, int **p2)

#include <stdio.h> {
int *temp;
void pswap(int **p1, int **p2); temp=*p1;
*p1="p2;
int main(void) *p2=temp;
{ }
int A=10, B=20;
int *pA, *pB;
PA=&A, pB=&B; Cig ZOIE] pi AZ ZOIE pA e A
pswap(&pA, &pB); . " = 10
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printf("pA7Z} 712|7| = 8= : %d \n", *pA); C ZolE p2 A3 EOE| pB e B
printf("pB7} 7}2|7| = #H<= : %d \n", *pB);
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return o;



#include <stdio.h>

int main(void)

{
int i = 100;
int *p = &i;
int **q = &p:

*p = 200;
printf("i=%d *p=%d

**q = 300;
printf("i=%d *p=%d

return O;

**q:%d \nll' i, *p, **q);

**q:%d \nll' i/ *p, **q);




#include <stdio.h>
int main(void)
{ ()

int i = 100;
int *p = &i;
int **q = &p:

*p = 200;
printf("i=%d *p=%d  **q=%d \n", i, *p, **q);

**q = 300;
printf("i=%d *p=%d  **q=%d \n", i, *p, **q):

return O;
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i=200 *p=200 **q=200

i=300 *p=300 **q=300
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